Quiz #8 MATH 54, Fall 2016, Section 224

Name: —A
Section: SQQLF\I WONS
1. Let

5 —4 =2
A=1-4 & 2].
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Using the fact that v; = (—2,2,1)T and v, = (1, 1,0)T are eigenvectors for A, find an
orthogonal basis for R® consisting of eigenvectors for A. (Hint: You don’t need to solve the
characteristic equation or find eigenspaces in this problem.)
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9. Let A = {v1,Vs,vs} and B = {uy, uy, uz} be two bases for a vector space V', and suppose
u =vy—2vy+3vs, Uy =-—-Vi+Vy U= 4vy — 6vg.

Let v = u; + uy + us. Find [v]4.
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